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�� ��  �!�"#�� Dirichlet� $
(�� �������� ��� !$���� � � � � � � � � � � � � � � � � � � � � � � � )
(�( �������� ��� |y′| ��� �$��
�� � � � � � � � � � � � � � � � � � � )
(�* +!
�� �������� ��� |y′|� � � � � � � � � � � � � � � � � � � � � � �(

%� ��  �!�"#�� Neumann� �$
*�� �������� ��� !$���� � � � � � � � � � � � � � � � � � � � � � � � �)
*�( �������� ��� |y′|� � � � � � � � � � � � � � � � � � � � � � � � � � �,

�� ��  �!�"#�� Robin� ��
-�� �������� ��� !$���� � � � � � � � � � � � � � � � � � � � � � � � (�
-�( �������� ��� |y′|� � � � � � � � � � � � � � � � � � � � � � � � � � ((

&� '(�����)� *� ��+#� ,�� ��-�.�,!)#)��� ��
.�� � �� ��/�!
0����� ��
���1�� ε = 0� � � � � � � � � � � � � � � (-

.���� �2��
3� ��� !$��� �1� �
� !��4�1� Dirichlet5 Neumann5
Robin� � � � � � � � � � � � � � � � � � � � � � � � � � � � (-

.���( ����6
������ ��� !$��� �1� �
� !��4�1� Dirichlet5
Neumann5 Robin� � � � � � � � � � � � � � � � � � � � � (7

.�( � ��/�!
0����� ��
���1�� � � � � � � � � � � � � � � � � � � � � *8
.�(�� ����6
������ ��� !$��� ��� �
� !������ Dirichlet� � *8
.�(�( ����6
������ ��� !$��� �1� �
� !��4�1� Neumann

��
 Robin� � � � � � � � � � � � � � � � � � � � � � � � � � *�
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&��� �
����� ���� ��!��4�� ��� ��
!��
������ ����

��9� �
� !��4�1�
�
� �� �
���
��� ������
� 6
�/�

��� �3
�9��
� 6�$��
�� �43��� :�1
�$��
��� �3��1��

|y(x)|εy′′(x) = f(x, y(x), y′(x)) ;���<

�
� x ∈ (−l, l)5 ε ∈ [0, 1) ��
 �
� ����

���� ��������

y(−l) = y(l) = 0, ;��(<

y′(−l) = y′(l) = 0, ;��*<

y′(−l) − σ(y(−l)) = y′(l) + σ(y(l)) = 0. ;��-<

�+��� !��� ��
 � y ����
 !$�� ��� �
� !������ ;���<5 ;��(< �� �����$�� ��
 � y
����
 �!��
�� !$�� 6�!�6� y ∈ C2(−l, l)∩C0[−l, l]� �+��
� ���� !��� ��
 � y
����
 �!��
�� !$�� ��� �
� !������ ;���<5 ;��*< � ;���<5 ;��-< �� ����������
��
 y ∈ C2(−l, l) ∩ C1[−l, l]�

��6� ��� �� �,�( � S.Bernstein ��� 4
�
� ��� =�> 6
��$�1�� ��� ��9
���
��� �/�
�$�� ��� ��
!��
������ ��� �3��1���

y′′(x) = f(x, y(x), y′(x)) ;��.<

�
� x ∈ (−l, l) �� ����

���� �������� ;��(<� &�����

����5 �����������
��
 � f = f(x, y, p) ����
 ����	��5 �� ����	��� ��

��� ��
��9���� fy5 fp ��


������
�� �
� ��������

fy ≥ k > 0 ;��7<

|f(x, y, p)| ≤ A(x, y)p2 + B(x, y) ;��?<

���� #5 @ /
������� ����
����
� �
� �4�� �������� ����$��!� ��� [−l, l]×
R5 k �����
45 ���� � !$�� ��� ;��.<5 ;��(< ��4
	�
 ��
 ����
 ����6
��� &���
���6�
3� ��� 
�	�

���$ ����$ ��
���
40����
 �
 ����
�� �1� apriori ���
�
����1� ��
 � ����� �	��� ��� �	��� �� ��� ��
!��
������ ��� �
� !������
;��.<5 ;��(<� ������� ��!!�� �
���4��
�� ��
��� 9��� �� ���
������ �� ��
��
�4�1 �����!���� ��� S.Bernstein�

&�� =(> ���6�
��$���
 � $��
3� ��
 � ����6
������ ��� !$��� ��� ;��.<
�
� Dirichlet5 Neumann ��
 ��

�6
��� ����

���� ��������� �+�1� ��

�69 � �$3��� ��� ���4
����� f(x, y, p) 1� �
�� �� ���� !��� p 6�� �
���

�� ����
 ����!$��
� ��� p25 �
� |p| → +∞� � ���6�
3� ��� ����6
�������
�
��������
 ��
��1�
�
������ ��� f 1� �
�� y5 1� �
�� p ��
 ��
�!��� fy ≥ 0�

�
� ������� A��

�

������B �$3���� ���
�����
 ��
 ��� =*>� #��!��
���
��
� ����������� ��
 � f(x, y, p) ���
�� �� �
�/�� 1� f(x, y, p) = g(x, y, p)+
h(x, y, p) ��
 �� 
������
�$���
 �
 ��������

yg(x, y, p) ≥ 0, |g(x, y, p)| ≤ A(x, y)w(p2), |h(x, y, p)| ≤ M0(|y|α + |p|β)

-



�
� �4�� (x, y, p) ∈ [−l, l] × R2, A(x, y) /
������ ���4
����5 w ����
 ��
/������� �� ∫ +∞

0

ds

w(s)
= +∞

��
 0 ≤ α, β < 1, M0 > 0 �����
��5 ���� ��4
	�
 !$�� y ∈ C2[−l, l] ���
;��.<5 ;��(<�

����
 !�
��� ���
�4 ��1��� ��
 �� �
� ��� f ���������� �
� �������
A��

�

������B �$3���� ����
 6������ �� ����!�3���� ���� $��
3� ��� !$���
��� �
� !������ ;��.<5 ;��(<� ��	�
 ���
�
1��� � ������� ;��?< �� ����40���

������� %Bernstein−Nagumo−Tonelli ;@�C��< ; !��� =(>5 =->�=?> ����<� +

�
���
 �
�/�� ��� ;@�C��< ��� ��/���0����
 ����  
 !
��
�/�� ����
 �
�����
��1�

α) |f(x, y, p)| ≤ A(x, y)p2 + B(x, y) ; !��� =(>5 =)>5 =,><

β) |f(x, y, p)| ≤ ψ(|p|)5 ∫ +∞
1

ρdρ
ψ(ρ)

= +∞ ; !��� =->5 =.><5

γ) |f(x, y, p)| ≤ ψ(|p|) 5 lims→∞
s2

ψ(s)
= +∞5 ; !��� =�8><�

� $��
3� ��� !$��� ���
�� �� ���6�
	��� ��
 �� !��� 6
�/�
��
��� ������
��� �
� �� 6�$��
� ��!��� �
� ������

���� ��� =��> �
 A.Granas, R.Guenther
��
 J.W.Lee �3��40��� ��� ��
!��
������ ��� 6
�/�

��� �3��1��� ;��.< ��
Dirichlet, Neumann, ��

�6
���5 � ��
���� ����

���� ��������� �
6
����
�
��� ��9
��� ;*��<=��> �
 ����
�/��� ���6�
��$��� apriori ���
����
� �
� ���
!$�� ��
 �
� ��
��9���� ��� 	
��
����
9���� �
� �������� %

yf(x, y, 0) ≥ 0 ;��)<

�
� |y| > M 5

|f(x, y, p)| ≤ ψ(|p|) ;��,<

�
� (x, y) ∈ [−l, l] × [−M,M ] 5 ψ > 05 1
ψ
�!��!�
9�
�� �� �4�� /
������

6
4����� ��� [0,∞) ��
 ∫ +∞

0

ρdρ

ψ(ρ)
> 2M. ;���8<

+
 �������� ;��,<�;���8< �
� �� 6�$��
� ��!�� ��� �3��1��� 	
��
����
�$���

��
 ��� 4!!��� ����
�/��� ; !��� =�(>�=((><�

&�� =(*> ���6�
��$���
 � $��
3� ��� !$��� ��� �3��1��� ;��.< �
� Neumann
����

��� �������5 	
��
����
9���� �
� ;@�C��< ��
 ;��)<5 �
� ��� ���4
���
�� f � ��!�� ��� =(-> ��!��4��
 �� �
��� ����

��� �
� !���5 �����������
�
� ������� ��� ��
/�� ;@�C��< �
� ��� f(x, y, p)�

.



��!��9���� �
� ��
��4�1 ���/�
�� �$��!� 6
��
��9����
 ��
 � ��
!��
���
���� ���� ����

���$ �
� !������ ��4����
 ���� �$
��� apriori ���
����1�
�
� �
� |y|, |y′|� � ���6�
3� �!��!�
9����
 �/�
��0����� ����!��
��� �����
6��� ;��1
�� Leray − Schauder< ; !��� =(>�=.>5 =?>5 =)>5 =�->5 =(->�=(,><�

&�� ��
�$�� �
����� ���6�
��$���� apriori ���
����
� �
� ��� �3��1��
;���< �� ����

���� �������� Dirichlet ;��(<5 Neumann ;��*< ��
 Robin
;��-<� 2��������� ��
 �
� ��� f 
�	$�
 � �	���

f(x, y, p) = f1(x, y, p) + f2(x, y, p)

���� � f1 
������
�� �������� ��� ��
/�� ;��,<�;���8< ��
 � f25 �
� �� �
��
 !��� Dirichlet5 
������
�� �
� ��������

yf2(x, y, p) ≥ 0 ;����<

�
� x ∈ (−l, l), |p| < +∞ ��


f2(x1, y1, p) − f2(x2, y2, p) ≥ 0 ;���(<

f2(x2, y1,−p) − f2(x1, y2,−p) ≥ 0 ;���*<

�
� x1 > x2, y1 > y2, p > 05 ��9 �
� �� �
� !����� Neumann ��
 Robin
	
�
�0������ ���� �
� ;���(<�;���*< ; !��� =*8><�

#��!��
����
� ��� 6�$��
� ��
4�
�/� ��!��4�� �� �
� !��� Dirichlet
�
� ��� �3��1�� ;���<� #/�$ ���6��3���� apriori ���
����
� �
� ��� !$��5
���
�4�� ��� |y′|5 ����4 ��� �$��
� �� ��� ��������� 6��  �����
�9� ����
�
����1� ;/
���4�1�<� &�� ����	�
� � �!
�� �������� ��� |y′| ������
 	
��
�
����
9���� ��� ����6� ��� Kruzhkov ; !��� =*�><5 �
�4������ �
� ��
�!���
���� !��� ; !��� ������ =->5 =.>5 =*8>5 =*(>5 =**><�

&��� �
��� ��
 ����
�� ��
4�
�/� ���6�
��$���� apriori ���
����
� �
�
��� !$�� ��� �3��1��� ;���< �� Neumann ��
 Robin ����

���� ��������
�������
	�5 ��9 � ����6�� ��� Kruzhkov �� ��� 69��
 3��4 ��� ��������
��� ��
��9����

&��� ��!������ ��
4�
�/� ��!��4�� ��� �� ��/�!
0����� ��
���1��5 ε =
0� #��6�
��$���� ��� $��
3� ��� !$���5 	
��
����
9���� �
� �6� ��4
	���
��� ���
����
�5 �/�
��0����� �� ��9
��� Leray − Schauder� &�� ����	�
�
���6�
��$���� �� ��1
����� ����6
������� ��
 �
� �� �
�� ����

��4 �
��
 !����� ���� ��� ��/�!
0����� ��� ��
 �
� �� �� ��/�!
0����� ��
���1���

&���"�0�����5 ���
�$�� �� ��$�� ��
 �� �
� ����6��� ��� �/�
��0����
����
 6������ �� 6
��
$����� �

����� ��!�
���
� �����!������� &�����

�
����5 �
� �� �
� !��� ;��.<5 ;��(< ��1
9���� �
� ��
��4�1 �������
� �
�
�
� ����
����
� f15 f2 ���
��$���� �� ��9
��� *�� ��� =��>5 �� ��9
��� �
��� =*> ��
 �� ��9
��� (�� ��� =?>� D
� �� �
� !��� ;��7<5 ;��*< ���
�$��

7



�� ���
��$����� �� ��9
��� .�� ��� =��> ���� �
� ��� ���6�
3� ��� $��
3��
��� !$��� �
���
 �� ��4
	�
 �����
4 M ≥ 0 ����
� 9��� yf(x, y, 0) ≥ 0 �
�
|y| > M ��
 � �3��1�� f(x, y, p) − y = 0 �� �	�
 ��
 ���
��� ��
 �
���
���

�0�� �
� �����
���
����� (x, y) ∈ [−l, l] × [−M,M ]� ������ ���
��$���

�� ��9
��� *�� ��� =(*> ���� ���
�����
 �
� ������� ��� ��
/�� ;@�C��<�
D
� �� �
��� ����

��� �
� !��� ���
��$���� �� �����!������ �1� ��1
��
�4�1� -���-�- ��� =(-> ���� ��
 ���� 	
��
����
����
 �
� ������� ��� ��
/��
;@�C��<� &��� ���6�
3� ��� ����6
������� �
� �� �
� !��� Dirichlet ����
������� ��
 �� 6�$��
� ��!�� ����
 �
� ����
� �$3���� ���4
���� 1� �
��
y� ��!�� � ���6�
3� ��� ����6
������� �
� �� �
� !��� Neumann ������

����������� ��
 � f ����
 Lipschitz 1� �
�� p ��
 ����
� �$3���� 1� �
�� y5
������������� ���
 �� ��1
����� .�(5 .�* ��� =(>�

?



�� �� �������	 Dirichlet�

��� �����	
	 �	� �

	��

/���� ��� �������� �� 	�
��
��

|y|εy′′ = f(x, y, y′) ;(��<

y(−l) = y(l) = 0, ;(�(<


	�� ε ∈ [0, 1) ��� 
 ������
�
 f(x, y, p) �������� ��� |y| < +∞� |p| < +∞�
x ∈ (−l, l)� ����� 
�� �	����� M > 0 ������ ���� yf(x, y, 0) > 0 ��� |y| > M �
�
�� ��� ���� ������ ���
 ��� 	���� ����! "#�$%� "#�#% ������ |y(x)| ≤ M �
x ∈ [−l, l]�

� !.(�+#� � ���4
���� |y(x)| �
���
 �� !�� 4��
 ���
�� ���
��� �� �4��
�
x0 ∈ (−l, l) ;!��1 ��� ����	�
�� ��� !$��� ��
 y(−l) = y(l) = 0<� ����1
|y(x0)| > M � �#� y(x0) > M ����5 �/�$ y(x0) ���
�� ���
���5 y′′(x0) ≤ 05 4
�
|y(x0)|εy′′(x0) ≤ 0 6�!�6� f(x0, y(x0), 0) ≤ 0 ��
 ���
6� y(x0) > 0 �
��$���

y(x0)f(x0, y(x0), 0) ≤ 0 4����� �#� y(x0) < −M ����5 �/�$ y(x0) �
���
��
�!4	
���5 y′′(x0) ≥ 05 4
� |y(x0)|εy′′(x0) ≥ 0 6�!�6� f(x0, y(x0), 0) ≥ 0 ��

���
6� y(x0) < 0 �
��$���
 y(x0)f(x0, y(x0), 0) ≤ 0 4����� �#
� |y(x)| ≤ M �

��� �����	
	 �	� |y′| 
�� 

�����

:�1
�$�� �� �
� !��� ;(��<5 ;(�(< ��
 ψ(ρ) ∈ C1([0, +∞))5 ψ(ρ) > 0 �
�
ρ > 05 ψ(0) ≥ 0 ��

∫ +∞

0

ρdρ

ψ(ρ)
>

(max {M, osc(y)})1−ε

1 − ε
. ;(�*<

����1 h1(x)5 h2(x) �
 !$��
� �1� ��
��4�1 �
� !��4�1�5

hε
1h

′′
1 + ψ(|h′

1|) = 0 ;(�-<

h1(−l) = 0, h1(−l + τ0) = μ ;(�.<

��

hε

2h
′′
2 + ψ(|h′

2|) = 0 ;(�7<

h2(l − τ0) = μ, h2(l) = 0 ;(�?<

���� μ = max {M, osc(y)}5 0 ≤ ε < 1 ��
 �� τ0 �� ��
!�	��� ��
��4�1� :�
 
�$�� �
� �����
4����� �
� ��� !$�� ��� �
� !������ ;(�-<5 ;(�.<� ����1
p(h1) = h′

1(x)5 ����

h′′
1 = p

dp

dh1

.

)



#�� ��� �3��1�� ;(�-< �� �	����

hε
1p

dp

dh1

= −ψ(|p|)

6�!�6�

− p

ψ(|p|)dp = h−ε
1 dh1

��
 �!��!�
9������ �� �4
����

∫ h1(q)

h1(q1)

1

1 − ε
d(h1−ε

1 ) =
∫ q1

q

ρdρ

ψ(|ρ|) .

E�!�6�

h1(q) − h1(q1) = (1 − ε)
1

1−ε (
∫ q1

q

ρdρ

ψ(|ρ|))
1

1−ε .

��	���� dh1

dx
= p ����� dx = − hε

1

ψ(|p|)dp. E�!�6�

x(q) − x(q1) =
∫ q1

q

hε
1dρ

ψ(|ρ|) .

���
6� ��!���� h1(−l) = 0 �� �
���
 x(q1) = −l ��
 h1(q1) = 0 4
�

h1(q) = (1 − ε)
1

1−ε (
∫ q1

q

ρdρ

ψ(|ρ|))
1

1−ε , x(q) =
∫ q1

q

hε
1dρ

ψ(|ρ|) − l.

��
!������ q0 ���
 9��� q ∈ [q0, q1]5 q1 > q0 > 0 ��


h1(q0) = (1 − ε)
1

1−ε (
∫ q1

q0

ρdρ

ψ(ρ)
)

1
1−ε = μ.

� ��
!��� ���� ���
�� �� ����
 6
��
 �	���� �������
 ��� ;(�*<� :������

τ0 =
∫ q1

q0

h1
εdρ

ψ(ρ)
.

�9
� �
�0���� �� D15 D2 1� �3��5 �� τ0 < 2l ���� D1 = (−l,−l + τ0) ��

D2 = (l − τ0, l) ��9 �� τ0 ≥ 2l ���� D1 = D2 = (−l, l)�

/���� ��� ����� y ∈ C2((−l, l)) ∩ C0([−l, l]) ���
 ��� 	���� ����! "#�$%�
"#�#% �� 0 ≤ ε < 1� ����� 
�� 
 ������
�
 f(x, y, p) �������� ��� |y| ≤ M �
|p| < +∞� x ∈ (−l, l) ��� f(x, y, p) = f1(x, y, p) + f2(x, y, p) �� &

|f1(x, y, p)| < ψ(|p|), ;(�)<

,



��� |p| < +∞� 
 ψ �	��
����� �
� "#�'% ��� 
 f2(x, y, p) �����	���� �
�

yf2(x, y, p) ≥ 0 ;(�,<

(
�� ��� ���� x ∈ Di ������

|y(x)| ≤ hi(x)

�� i)$�# �

� !.(�+#� �< ����1 τ0 < 2l� &�� �$��
� �$��!�  !������ ��
 
�	$�
 %

y(−l) = y(l) = h1(−l) = h2(l) = 0

��

|y(−l + τ0)| ≤ M ≤ h1(−l + τ0)

|y(l − τ0)| ≤ M ≤ h2(l − τ0)

6
��
 �	���� |y| ≤ M ��
 h1(−l+τ0) = h2(l−τ0) = μ ���� μ = max{M, osc(y)}�
+
�0���� �9
� L0y ≡ |y|εy′′ + ψ(|y′|) 4
�

L0y = |y|εy′′ + ψ(|y′|) = f1(x, y, y′) + f2(x, y, y′) + ψ(|y′|).

�
�/��9� 
�	$�
 %

L0hi = hε
ih

′′
i + ψ(|h′

i|) = 0, i = 1, 2.

����1 vi(x) = y(x) − hi(x) ���� ��� ��� �

��� ��� ��!���� L0 �	����

L0y − L0hi = |y(x)|εy′′(x) + ψ(|y′(x)|) − hε
i (x)h′′

i (x) − ψ(|h′
i(x)|)

= |y(x)|εy′′(x) − hε
i (x)h′′

i (x) + βiv
′
i(x)

= |y(x)|εv′′
i (x) + βiv

′
i(x) + (|y(x)|ε − hε

i (x))h′′
i (x),

���� �� |βi| < +∞ ��� (−l, l) !��1 ��� ���!������ ��� ψ ��
 6
��
 � y′ 6��
���

�0���
 ��� (−l, l)� +
�0���� ��� ��!����

L∗vi ≡ Av′′
i + βiv

′
i ;(��8<

���� A(x) = |y(x)|ε� �$��!�  !������ ��


L∗vi = f1(x, y, y′) + f2(x, y, y′) + ψ(|y′|) + (hε
i − |y|ε)h′′

i . ;(���<

����1 ��
 �
� i = 1, 2 � vi = y − hi !�� 4��
 ��� Ni ∈ Di ���
�� ���
����
���� �
�/��9� �� 
�	$�
 v′′

i (Ni) ≤ 0 ��
 v′
i(Ni) = 0 6�!�6� � �	��� ;(��8<

�8



��� 6���
 L∗vi(Ni) ≤ 0� #�� ��� 4!!� ��1� y′(Ni) = h′
i(Ni) ��
 !��1 �1�

�	���1� ;(�)<5 ;(�,< �	����

f1(Ni, y(Ni), y
′(Ni)) + ψ(|y′(Ni)|) > 0 και f2(Ni, y(Ni), y

′(Ni)) ≥ 0.

F��1 ��� ��
!���� �1� ����
����1� hi 
�	$�
 hi(Ni) > 0� ���
6� �� Ni ����

������ ���
��$ �������� ��� vi 
�	$�
 vi(Ni) > 0 ��
 4
� y(Ni) > hi(Ni) > 0
6�!�6� yε(Ni) > hε

i (Ni). ������ h′′
i (Ni) < 0 6
��


hε
i (Ni)h

′′
i (Ni) = −ψ(|h′

i(Ni)|)
�� hε

i (Ni) > 0 ��
 ψ(|h′
i(Ni)|) > 0� ��!
�4 � �	��� ;(���< ��� 6���
 L∗vi(Ni) >

05 4����� &�� �$��
� ��1
�0���� ��
 y(x) ≤ hi(x)� �/�
��0����� ��� �
	�
�������� ���
����� %

y(x) ≤ hi(x) �
� x ∈ Di�

+
�0���� �9
� L1y ≡ |y|εy′′� +���� �� 
�	$�
 %

L1y = f1(x, y, y′) + f2(x, y, y′)

��


L1hi = hε
ih

′′
i = −ψ(|h′

i|) �
� i = 1, 2

:�1
�$�� ��� ���4
���� wi = y + hi ��
 ��� ��!���� Lw ≡ |y|εw′′� ����

Lw = |y|ε(y′′ + h′′
i )

= f1(x, y, y′) + f2(x, y, y′) + |y|εh′′
i + |hi|εh′′

i − |hi|εh′′
i

= f1(x, y, y′) + f2(x, y, y′) − ψ(|h′
i|) + (|y|ε − |hi|ε)h′′

i

6�!�6�

Lw = f1(x, y, y′) + f2(x, y, y′) − ψ(|h′
i|) + (|y|ε − |hi|ε)h′′

i . ;(��(<

����1 Ñi ∈ Di ����
� 9��� � wi = y +hi �� !�� 4��
 ���� �
���
�� �!4	
����
���� w′′(Ñi) ≥ 0 ����� ��� ��� �

��� ��� ��!���� L �
��$���
 Lw(Ñi) ≥ 0�
�9
� �
�/��9� w(Ñi) < 05 4
� y(Ñi)+hi(Ñi) < 0� ������ 
�	$�
 h′′

i (Ñi) < 0
�
� i = 1, 2 ��
 �� 6��3���� ��


hε
i (Ñi) − |y(Ñi)|ε < 0.

�
4����
5 0 < hi(Ñi) < −y(Ñi) = |y(Ñi)| 4
� hε
i (Ñi) < |y(Ñi)|ε� #��

�
� �	���
� ;(�)<5 ;(�,< ���9� ������ ��
 ��
 ��� Ñi � wi !�� 4��
 �
���
��
�!4	
��� ;4
� y′(Ñi) = −h′

i(Ñi)< �	����

f1(Ñi, y(Ñi), y
′(Ñi)) − ψ(|y′

i(Ñi|) < 0

��
 f2(Ñi, y(Ñi), y
′(Ñi)) ≤ 0� �#
� ��� �� �	��� ;(��(< ���
����� Lw(Ñi) <

05 4����� &�� �$��
�5 �
� x ∈ ∂Di �� i = 1, 25 ��1
�0���� −hi(x) ≤ y(x)�
�/�
��0����� ��� �
	� �������� ���
�����

��



−hi(x) ≤ y(x) ��� Di�

 < ����1 τ0 ≥ 2l� � 6
�6
����� ��� ���6�
3�� ����
 ��
���
�5 ��!4 �9
� ���
�$��
� �� �	���� y(−l) = h1(−l) = 0 ��
 y(l) = h2(l) = 0 �� h′

1 > 05 h′
2 < 0�

#��6��3��� !�
��� ��


|y(x)| ≤ hi(x) i = 1, 2 ∀x ∈ Di .

���0.(���� �� �#� �4
���� �
� f1(x, y, p) = pmg(x, y) ��
 f2(x, y, p) =
y2n+1p2nh(x, y, p) ���� �
 m,n ����
 /��
��� �

����5 m > 2 ��
 � h ����

�
� �� �
���
�� ���4
����� �$��!�  !������ ��
 �
 �������� ;(�)<5 ;(�,<

������
�$���
�

#�� �� �
����$���� ��
46�
��� ����
 /���
� ��
 � ����
� ��
������ ����
�	��� ;(�)< 6�� ����
 ���
���
�� ��
 �� ���
�$�� !��1 ��� ���
������� ���
���4
����� ψ �� ���
���������� ��� ���

|f1(x, y, p)| ≤ ψ(|p|).

��� ����� �����	
	 ��� |y′|�
/���� ��% ����� y ∈ C2((−l, l)) ∩ C0([−l, l]) ���
 ��� 	���� ����! "#�$%�
"#�#% ��� ��� �
� ������
�
 f(x, y, p) ������� �� 	���	������! ��� � �����!
#�#� �	�	���� 
 f2(x, y, p) �����	���� ��! ���� ��!

f2(x1, y1, p) − f2(x2, y2, p) ≥ 0 ;(��*<

f2(x2, y1,−p) − f2(x1, y2,−p) ≥ 0 ;(��-<

��� x1 > x2, y1 > y2, p > 0� (
��

|y′(x)| ≤ c0


	�� �� c0� �*������� �
�� �	
 �� ψ� l−1� +�

� !.(�+#� ����1 6$� ������ x1, x2 ∈ (−l, l) �� x1 > x2 ��


|y(x1)|εy′′(x1) = f1(x1, y(x1), y
′(x1)) + f2(x1, y(x1), y

′(x1)) ;(��.<

|y(x2)|εy′′(x2) = f1(x2, y(x2), y
′(x2)) + f2(x2, y(x2), y

′(x2)) ;(��7<

+
�0���� P = {(x1, x2) : |x1| < l, |x2| < l, x1 > x2, x1 − x2 < τ0}5 ����
�� τ0 �� ��
!�	��� ��
��4�15 ��
 v(x1, x2) = y(x1) − y(x2)� �
�/��9� � v

������
�� ��� �3��1��

|y(x1)|εvx1x1 − |y(x2)|εvx2x2 = f1(x1, y(x1), vx1) + f2(x1, y(x1), vx1)−

�(



−f1(x2, y(x2),−vx2) − f2(x2, y(x2),−vx2)�

:�1
�$�� ��� ��!����

L(v) ≡ −αvx1x1 − βvx2x2 − ψ(|vx1|) − ψ(|vx2|) ;(��?<

���� α = α(x1) = |y(x1)|ε5 β = β(x2) = |y(x2)|ε� ����1 h � !$�� ���
�
� !������

hε(τ)h′′(τ) + ψ(|h′(τ)|) = 0, ;(��)<

h(0) = 0, h(τ0) = μ = max{M, osc(y)}. ;(��,<

�+�1� ��
 �
��������1�  
������� ��� �����
4����� ��� !$��� ���1 ���
�!!���� p(h) = h′5

h(q) = (1 − ε)
1

1−ε (
∫ q1

q

ρdρ

ψ(ρ)
)

1
1−ε , x(q) =

∫ q1

q

hεdρ

ψ(ρ)
;(�(8<

�
� q ∈ [q0, q1]5 q1 > q0 > 0 ��


h1(q0) = (1 − ε)
1

1−ε (
∫ q1

q0

ρdρ

ψ(ρ)
)

1
1−ε = μ ;(�(�<

��� 
�	$�
 !��1 ��� ;(�*<� ������ �������

τ0 =
∫ q1

q0

hεdρ

ψ(ρ)
.

� �$��

�� �1� h(x1 − x2) ��
 v(x1, x2) ��� ∂P ��� �6���� ��� ��
������

v(x1, x2) ≤ h(x1 − x2) ∀(x1, x2) ∈ ∂P.

�
4����
5 �
� x1 = x2 �
 v(x1, x2)5 h(x1 − x2) ���������� ��
 
��$���
 ��
85 �
� x1 − x2 = τ0 ���
����� y(x1) − y(x2) − h(τ0) = y(x1) − y(x2) − μ ≤
osc(y) − μ ≤ 0� D
� x1 = l, x2 ∈ (l − τ0, l) �	���� y(l) − y(x2) − h(l −
x2) = −y(x2) − h(l − x2)� :� 6��3���� y(x2) ≥ −h(l − x2)� �+�1� 
�	$�

h(l − x2) = h2(x2) 6
��
 �
 ����
����
� h2(x2)5 h0(x2) = h(l − x2) ����
 �

����6
��� !$��
� �1� (I), (II)

(I)

⎧⎪⎨
⎪⎩

hε
2(x)h′′

2(x) + ψ(|h′
2(x)|) = 0

h2(l − τ0) = μ
h2(l) = 0

(II)

⎧⎪⎨
⎪⎩

hε
0(x)h′′

0(x) + ψ(|h′
0(x)|) = 0

h0(l − τ0) = μ
h0(l) = 0

4
� �� 0���$���� �
��$���
 ��� �� F���� (�(� D
� x2 = −l, x1 ∈ (−l,−l +
τ0) ���� y(x1) − y(x2) − h(x1 − x2) = y(x1) − h(x1 + l)� :� 6��3���� ��


�*



y(x1) ≤ h(x1 + l)� #
��� �� 6��3���� h1(x1) ≤ h(x1 + l) ��
 ��� ����	�
�
	
��
����
9���� �� F���� (�( �� �	����

y(x1) ≤ h1(x1) ≤ h(x1 + l).

�+�1� 
�	$�
 h1(x1) = h(x1 + l) 6
��
 �
 ����
����
� h1(x1) ��
 h̃(x1) =
h(x1 + l) ����
 ����6
��� !$��
� �1� ;GGG<5(IV )�

(III)

⎧⎪⎨
⎪⎩

hε
1(x)h′′

1(x) + ψ(|h′
1(x)|) = 0

h1(−l) = 0
h1(−l + τ0) = μ

(IV )

⎧⎪⎨
⎪⎩

h̃ε(x)h̃′′(x) + ψ(|h̃′(x)|) = 0
h̃(−l) = 0
h̃(−l + τ0) = μ

&�� P �
�0����
L1(h) ≡ hε(τ)h′′(τ) + ψ(|h′(τ)|)

��
 L2(h) = −L1(h)� �9
�

L2(h) − L(v) = L3(h − v) + g4(x1, x2) ;(�((<

����
L3(q) ≡ −αqx1x1 − βqx2x2 − g1qx1 − g2qx2 + g3q

��

g1 =
−ψ(|vx1|)
hx1 − vx1

, g2 =
ψ(|hx2|) − ψ(|vx2|)

hx2 − vx2

,

g3 = −h′′h
ε − |v|ε
h − v

, g4 = αh′′ + βh′′ − |v|εh′′

��
 h′′ = hx1x1 = hx2x2 � � ���6�
3� ��� ;(�((< ����
 ��!�5

L3(h− v) + g4(x1, x2) = −α(h− v)x1x1 − β(h− v)x2x2 + ψ(|vx1|)− ψ(|hx2|)+

ψ(|vx2|)−h′′(hε−|v|ε)+αh′′+βh′′−|v|εh′′ = αvx1x1 +βvx2x2−h′′hε+ψ(|vx1|)−
ψ(|h′|) + ψ(|vx2|) = αvx1x1 + βvx2x2 + ψ(|vx1|) + ψ(|vx2|)− (h′′hε + ψ(|h′|)) =

−L(v) − L1(h) = L2(h) − L(v)�

�+�1� g4 = αh′′+βh′′−|v|εh′′ = h′′(α+β−|v|ε) = (|y(x1)|ε+|y(x2)|ε−|v|ε)h′′

��
 
�	$��� �
 ��
�������

|y(x1)|ε + |y(x2)|ε ≥ (|y(x1)| + |y(x2)|)ε ≥ |v|ε

�
� �4�� ε ∈ [0, 1) ; !��� =*.><5 ����� g4 ≤ 0� ����1 ��
 � h − v !�� 4��

��� N = (x0

1, x
0
2) ∈ P �
���
�� �!4	
��� ���� �� �	���� (h − v)(N) < 05

4
� hε(N) < |v|ε(N) 6�!�6� g3(N) > 0 6
��
 h′′ < 0� +���� L3(h − v)(N) =

�-



−α(N)(h− v)x1x1(N)−β(N)(h− v)x2x2(N)+ g3(N)(h− v)(N) < 0. #�� ���
4!!� ��

4

L2(h) − L(v) = αvx1x1 + βvx2x2 + ψ(|vx1|) + ψ(|vx2|) = f1(x1, y(x1), vx1)+

+f2(x1, y(x1), vx1)−f1(x2, y(x2),−vx2)−f2(x2, y(x2),−vx2)+ψ(|vx1|)+ψ(|vx2|)

4
� �
 �	���
� ;(�)<5 ;(��*<5 ;(�((< ���9� ������ ��
 ��
 vx1(N) = −vx2(N) =
h′(N) ��� 6����� ��


L3(h − v)(N) ≥ 0

4����� �� ��� �������� ��� �$��
� ����!������ ����

y(x1) − y(x2) = v(x1, x2) ≤ h(x1 − x2) ;(�(*<

�
� �4�� (x1, x2) ∈ P̄ �
�9
� ��� P = {(x1, x2) : x1 > x2, x1 − x2 < τ0}5 ���� �� τ0 ��
!����

��
 ��1� �
��������1� �
�0���� ṽ(x1, x2) = y(x2) − y(x1)� �
�/��9� � ṽ

������
�� ��� �3��1��

|y(x2)|εṽx2x2 − |y(x1)|εṽx1x1 = f1(x2, y(x2), ṽx2) + f2(x2, y(x2), ṽx2)−

f1(x1, y(x1),−ṽx1) − f2(x1, y(x1),−ṽx1).

+
�0����
L(ṽ) ≡ −αṽx1x1 − βṽx2x2 − ψ(|ṽx1|) − ψ(|ṽx2|)

���� α = α(x1) = |y(x1)|ε5 β = β(x2) = |y(x2)|ε� ����1 h � !$�� ���
�
� !������ ;(��)<5 ;(��,< ��
 ;(�(8< � �����
4����� ���� � �$��

�� �1�
h(x1 − x2) ��
 ṽ(x1, x2) ��� ∂P ��� �6���� ��� ��
������

ṽ(x1, x2) ≤ h(x1 − x2) ∀(x1, x2) ∈ ∂P.

�
4����
5 �
� x1 = x2 �
 ṽ(x1, x2)5 h(x1 − x2) ���������� ��
 
��$���
 ��
85 �
� x1 − x2 = τ0 ���
����� y(x2) − y(x1) − h(τ0) = y(x2) − y(x1) − μ ≤
osc(y) − μ ≤ 0� D
� x1 = l, x2 ∈ (l − τ0, l) �	���� y(x2) − y(l) − h(l −
x2) = y(x2) − h(l − x2)� :� 6��3���� ��
 y(x2) ≤ h(l − x2)� �+�1� 
�	$�

h(l − x2) = h2(x2) 6
��
 �
 ����
����
� h2(x2)5 h0(x2) = h(l − x2) ����
 �

����6
��� !$��
� �1� (I), (II)

(I)

⎧⎪⎨
⎪⎩

hε
2(x)h′′

2(x) + ψ(|h′
2(x)|) = 0

h2(l − τ0) = μ
h2(l) = 0

(II)

⎧⎪⎨
⎪⎩

hε
0(x)h′′

0(x) + ψ(|h′
0(x)|) = 0

h0(l − τ0) = μ
h0(l) = 0

4
� �� 0���$���� �
��$���
 ��� �� F���� (�(� D
� x2 = −l, x1 ∈ (−l,−l+τ0)
���� y(x2) − y(x1) − h(x1 − x2) = −y(x1) − h(x1 + l)� :� 6��3���� ��


�.



−h(x1 + l) ≤ y(x1)� #
��� �� 6��3���� h1(x1) ≤ h(x1 + l) ��
 ��� ����	�
�
	
��
����
9���� �� F���� (�( �� �	����

y(x1) ≥ −h1(x1) ≥ −h(x1 + l).

�+�1� 
�	$�
 h1(x1) = h(x1 + l) 6
��
 �
 ����
����
� h1(x1) ��
 h̃(x1) =
h(x1 + l) ����
 ����6
��� !$��
� �1� ;GGG<5;IV <�

(III)

⎧⎪⎨
⎪⎩

hε
1(x)h′′

1(x) + ψ(|h′
1(x)|) = 0

h1(−l) = 0
h1(−l + τ0) = μ

(IV )

⎧⎪⎨
⎪⎩

h̃ε(x)h̃′′(x) + ψ(|h̃′(x)|) = 0
h̃(−l) = 0
h̃(−l + τ0) = μ

D
� �� ��1��

�4 ������ ��� P �
�0����

L1(h) ≡ hε(τ)h′′(τ) + ψ(|h′(τ)|)

��
 L2(h) = −L1(h)� �9
�

L2(h) − L(ṽ) = L3(h − ṽ) + g4(x1, x2)

����
L3(q) ≡ −αqx1x1 − βqx2x2 − g1qx1 − g2qx2 + g3q

��

g1 =
−ψ(|ṽx1|)
hx1 − ṽx1

, g2 =
ψ(|hx2|) − ψ(|ṽx2|)

hx2 − ṽx2

,

g3 = −h′′h
ε − |ṽ|ε
h − ṽ

, g4 = αh′′ + βh′′ − |ṽ|εh′′

��
 h′′ = hx1x1 = hx2x2 � � ���6�
3� ��� ��
��4�1 �	���� �	�
 ����
 �
���
������1�� �+��
� !�
��� g4 = αh′′ + βh′′ − |ṽ|εh′′ = h′′(α + β − |ṽ|ε) =
(|y(x1)|ε + |y(x2)|ε − |ṽ|ε)h′′5 ��
 
�	$��� �
 ��
�������

|y(x1)|ε + |y(x2)|ε ≥ (|y(x1)| + |y(x2)|)ε ≥ |ṽ|ε

�
� �4�� ε ∈ [0, 1) ; !��� =*.><5 ����� g4 ≤ 0� ����1 ��
 � h − ṽ !�� 4��

��� Ñ = (x0

1, x
0
2) ∈ P �
���
�� �!4	
��� ���� �� �	���� (h − ṽ)(Ñ) < 05

4
� hε(Ñ) < |ṽ|ε(Ñ) 6�!�6� g3(Ñ) > 0 6
��
 h′′ < 0� +���� L3(h − ṽ)(Ñ) =
−α(Ñ)(h − ṽ)x1x1(Ñ) − β(Ñ)(h − ṽ)x2x2(Ñ) + g3(Ñ)(h − ṽ)(Ñ) < 0� #��
��� 4!!� ��

4

L2(h)−L(ṽ) = αṽx1x1 + βṽx2x2 + ψ(|ṽx1|) + ψ(|ṽx2|) = −f1(x1, y(x1),−ṽx1)−

−f2(x1, y(x1),−ṽx1)+f1(x2, y(x2), ṽx2)+f2(x2, y(x2), ṽx2)+ψ(|ṽx1|)+ψ(|ṽx2|)

�7



4
� �
 �	���
� ;(�)<5 ;(��-<5 ;(�((< ���9� ������ ��
 ��
 ṽx1(Ñ) = ṽx2(Ñ) =
−h′(Ñ) ��� 6����� ��


L3(h − ṽ)(Ñ) ≥ 0

4����5 ����� � ��
������ ��� �$��
� �����4����


y(x2) − y(x1) = ṽ(x1, x2) ≤ h(x1 − x2) ;(�(-<

�
� �4�� (x1, x2) ∈ P̄ �
&��� ��	

 �9
� ���6�
3� ��	��� �������
 ��
 τ0 ≤ 2l� #� τ0 > 2l �
��

0���� 3��4 �� P ��
 � ���6�
3� ����
 � �6
� ��1
9���� ���� �6
��� ��!������
� ���� 6
�/�
4 ����
 �� �$��
� ���� �9
� �� �	����

∂P = {x1 − x2 = 0} ∪ {x2 = −l, x1 ∈ (−l, l)} ∪ {x1 = l, x2 ∈ (−l, l)}

��
 � ���6�
3� ����
 ��!�$���
��
F��1 ��� ������
��� �1� ���� !��9� x15 x2 ���
�$�� �� 
�	�

���$��

��
 �
� |x1| < l 5 |x2| < l 5 0 < |x1 − x2| < τ0 ;� 0 < |x1 − x2| �
� τ0 > 2l<

|y(x1) − y(x2)|
|x1 − x2|

≤ h(|x1 − x2|) − h(0)

|x1 − x2|

6�!�6�
|y′(x)| ≤ h′(0) = q1. ;(�(.<

�� !���� ���6��	�����
���0.(���� �� �#� ��1
������ f1(x, y, p) = pn+2g(x, y) ��
 f2(x, y, p) =

y2n+1eph(x, y, p) �
� n �= 0 /��
�� ��
 h �� �
���
�� ���4
����5  !������
��
 �
 �������� ;(�)<5 ;(��*<5 ;(��-< 
������
�$���
�

�?



�� �� �������	 Neumann�

��� �����	
	 �	� �

	��

/���� %�� �������� �� 	�
��
��

|y|εy′′ = f(x, y, y′) ;*��<

y′(−l) = y′(l) = 0 ;*�(<


	�� ε ∈ [0, 1) ��� 
 ������
�
 f(x, y, p) �������� ��� |y| < +∞� |p| < +∞�
x ∈ [−l, l]� ����� 
�� �	����� M > 0 ������ ���� yf(x, y, 0) > 0 ��� |y| > M �
x ∈ [−l, l] ��� �	�	����

|y(−l)|εy′′(−l) = f(−l, y(−l), 0) ;*�*<

|y(l)|εy′′(l) = f(l, y(l), 0) ;*�-<

�
�� ��� ���� y ∈ C2[−l, l] ���
 ��� 	���� ����! "'�$%� "'�#% ������

|y(x)| ≤ M, x ∈ [−l, l]

� !.(�+#� � ���4
���� |y| ����
 ���
�� ��
 !��1 ����	�
�� �� !�� 4��

���
�� ���
��� �� �4��
� x0 ∈ [−l, l]� ����1 |y| > M �
;�< �#� x0 ∈ (−l, l)5 y(x0) > M ���� y′′(x0) ≤ 05 4
� |y(x0)|εy′′(x0) ≤ 0 6�!��
6� f(x0, y(x0), 0) ≤ 0 ��
 ���
6� y(x0) > 0 �
��$���
 y(x0)f(x0, y(x0), 0) ≤ 0
4�����
; < �#� x0 ∈ (−l, l)5 y(x0) < −M ���� y′′(x0) ≥ 05 4
� |y(x0)|εy′′(x0) ≥ 0 6��
!�6� f(x0, y(x0), 0) ≥ 0 ��
 ���
6� y(x0) < 0 �
��$���
 y(x0)f(x0, y(x0), 0) ≤
0 4�����

#� � |y| !�� 4��
 �� ���
��� ��� �
� x0 = −l � x0 = l ���� |y(x0)| ≤ M �
�
4����
 ���1 x0 = −l ��
 y(−l) �� ���
��� ��� ���4
����� y� :� 6��3����
��
 6�� ���
�� �� 
�	$�
 |y(−l)| > M � �#� |y(−l)| > M ���� ��!!��!��
40��
���� ��� ;*�*< �� y(−l) �
��$���


y(−l)|y(−l)|εy′′(−l) = y(−l)f(−l, y(−l), 0) > 0.

#� y(−l) > 0 ���� y′′(−l) > 0 ��
 4
� � y′ ����
 ����
� �$3���� �
� x
����4 ��� −l� ���� y′(x) > y′(−l) = 0 �
� x ����4 ��� −l5 ����� � y ����

����
� �$3���� �� ���� ��� ��

�	� ��� −l ��
 �� y(−l) = |y(−l)| 6�� ����

���
��� ��� |y|�

#� �9
� y(−l) < 0 ���� y′′(−l) < 0 ��
 4
� � y′ ����
 ����
� /�������
�� ��� ��

�	� ��� −l5 6�!�6� y′(x) < y′(−l) = 0 �
� x ����4 ��� −l5 �����
� y ����
 ����
� /������� �� ���� �� ��

�	� ��� −l ��
 � |y| 6�� ���
�� ��
!�� 4��
 ���
��� ��� −l ;�� !�� 4��
 �!4	
���<� � ���6�
3� �
� x0 = l
������
 �� ��� �6
� �
����

�)



��� �����	
	 �	� |y′|�
:�1
�$�� �� �
� !��� ;*��<5 ;*�(< ���� � ���4
���� f ����
 6������ ��
��/���0���
 ��� ��
/�

f(x, y, p) = f1(x, y, p) + f2(x, y, p) ;*�.<

���� � f1 
������
�� �� ������� ;(�)< ��
 �
� ��� f2 
�	$��� �
 ;(��*<5 ;(��-<�
����1 h � !$�� ��� �
� !������ ;(��)<5 ;(��,< ��
 ;(�(8< � �����
4�����
����

/���� %�� ����� y ∈ C2((−l, l)) ∩ C1([−l, l]) ���
 ��� 	���� ����! "'�$%�
"'�#%� ,� �	�������� 
�� ��� �� f, f1, f2 �����	����� ��! "'�-%� "#�.%� "#�$'%/
"#�$0% ����������� �
��

|y′(x)| ≤ C0 ;*�7<

��� ���� x ∈ [−l, l] 
	�� �� C0 �*������� �
�� �	
 �� ψ� l−1� M �

� !.(�+#� �#� x = −l � x = l ���� � ;*�7< �
�/��9� 
�	$�
� ����1 6$�
������ x1, x2 ∈ (−l, l) �� x1 > x2 ��


|y(x1)|εy′′(x1) = f1(x1, y(x1), y
′(x1)) + f2(x1, y(x1), y

′(x1)) ;*�?<

|y(x2)|εy′′(x2) = f1(x2, y(x2), y
′(x2)) + f2(x2, y(x2), y

′(x2)) ;*�)<

+
�0���� P = {(x1, x2) : |x1| < l, |x2| < l, x1 > x2, x1 − x2 < τ0} ��

v(x1, x2) = y(x1) − y(x2)� �
�/��9� � v 
������
�� ��� �3��1��

|y(x1)|εvx1x1 + |y(x2)|εvx2x2 = f1(x1, y(x1), vx1) + f2(x1, y(x1), vx1)−

f1(x2, y(x2),−vx2) − f2(x2, y(x2),−vx2).

+
�0���� ���� ��!�����

L(v) ≡ −αvx1x1 − βvx2x2 − ψ(|vx1|) − ψ(|vx2|) ;*�,<

���� α = α(x1) = |y(x1)|ε5 β = β(x2) = |y(x2)|ε5

L1(h) ≡ hε(τ)h′′(τ) + ψ(|h′(τ)|). ;*��8<

D
� ����!�� �� ������� L2(h) = −L1(h)� �9
� 
�	$�
 � �	��� ;(�((<� :�1�

�$�� ��� ���4
���� h−v � ����� �� !�� 4��
 ��� N ∈ P �
���
�� �!4	
���
���� ��1� ��6��� ��
 ��� ��!��� ��� �
� !������ Dirichlet �$��!� �
��$���

��


L3(h − v)(N) < 0. ;*���<

�,



������ 	
��
����
9���� �
� ;(�)<5 ;(��*<5 ;(�((< ���
���� �� 6��3���� ��


L3(h − v)(N) ≥ 0. ;*��(<

#������
 �9
� � �!��	�� ��� �$��
� ��� P 6�!46� ���

∂P = {x1 − x2 = 0} ∪ {x1 − x2 = τ0} ∪ Q1 ∪ Q2 ;*��*<

���� Q1 = {x2 = −l, x1 ∈ (−l,−l + τ0)}5 Q2 = {x1 = l, x2 ∈ (l − τ0, l)}� D
�
x1 = x2 �
 v(x1, x2)5 h(x1−x2) ���������� ��
 
��$���
 �� 85 �
� x1−x2 = τ0

���
����� y(x1) − y(x2) − h(τ0) = y(x1) − y(x2) − μ ≤ osc(y) − μ ≤ 0�
�#� �9
� x2 = −l, x1 ∈ (−l,−l + τ0) �	���� w(x1, x2) = y(x1) − y(x2) −

h(x1−x2) 4
� wx2(x1,−l) = −y′(−l)+h′(x1+l) = h′(x1+l) ≥ q0 > 0� ��!��
4� x1 = l, x2 ∈ (l−τ0, l) 
�	$�
 wx1(l, x2) = y′(l)−h′(l−x2) = −h′(l−x2) < 0�
+���� ��� ��� �������� ��� �$��
� ��
 �� �����!������ ��� ��1��

�� ���
P �	����

v(x1, x2) = y(x1) − y(x2) ≤ h(x1 − x2) ;*��-<

�
� �4�� (x1, x2) ∈ P̄ � �� ��� �6
� �
��� �!!4 	
��
����
9���� �9
� ���
;(��-< ���
�$�� �� ���6��3���� ; !��� ��
4�
�/� (< ��


ṽ(x1, x2) = y(x2) − y(x1) ≤ h(x1 − x2) ;*��.<

�
� �4�� (x1, x2) ∈ P̄ ��
 !��1 ��� ������
��� �1� ���� !��9� x15 x2 �	����
�
� |x1| < l 5 |x2| < l 5 0 < |x1 − x2| < τ0 ;� 0 < |x1 − x2| �
� τ0 > 2l<

|y(x1) − y(x2)|
|x1 − x2|

≤ h(|x1 − x2|) − h(0)

|x1 − x2|

6�!�6�
|y′(x)| ≤ h′(0) = q1.

���0.(���� %� �
�/��9� �
 f15 f2 ��� ��6��� ��� ��
46�
��� ( ���
�$�
�� ��
!���$� ��� 6�$��
� ��!�� ��� �
� !��� Neumann�

(8



�� �� �������	 Robin�

��� �����	
	 �	� �

	��

/���� ��� �������� �� 	�
��
��

|y|εy′′ = f(x, y, y′) ;-��<

y′(−l) − σ(y(−l)) = 0 ;-�(<

y′(l) + σ(y(l)) = 0 ;-�*<


	�� ε ∈ [0, 1)� 
 ������
�
 f(x, y, p) �������� ��� |y| < +∞� |p| < +∞�
x ∈ (−l, l) ��� 
 σ(y) �������� ��� ���� y� ����� 
�� �	����� M > 0 ������
���� ��� |y| > M ������ yf(x, y, 0) > 0 �� x ∈ (−l, l) ��� y(−l)σ(y(−l)) > 0�
y(l)σ(y(l)) < 0� (
�� ��� ���� y ∈ C2(−l, l)∩C1[−l, l] ���
 ��� 	���� ����!
"0�$%/"0�'% ������

|y(x)| ≤ M, x ∈ [−l, l].

� !.(�+#� � ���4
���� |y| !��1 ����	�
�� �� !�� 4��
 ���
��� �� �4��
�
x0 ∈ [−l, l]� ����1 |y| > M �

;�< �#� x0 ∈ (−l, l)5 y(x0) > M ���� y′′(x0) ≤ 05 4
� |y(x0)|εy′′(x0) ≤ 0 6��
!�6� f(x0, y(x0), 0) ≤ 0 ��
 ���
6� y(x0) > 0 �
��$���
 y(x0)f(x0, y(x0), 0) ≤
0 4�����

; < �#� x0 ∈ (−l, l)5 y(x0) < −M ���� y′′(x0) ≥ 05 4
� |y(x0)|εy′′(x0) ≥ 0
6�!�6� f(x0, y(x0), 0) ≥ 0 ��
 ���
6� y(x0) < 0 �
��$���
 y(x0)f(x0, y(x0), 0) ≤
0 4�����

#� � |y| !�� 4��
 �� ���
��� ��� �
� x0 = −l � x0 = l ���� |y(x0)| ≤ M �
�
4����
 ���1 x0 = −l ��
 y(−l) �� ���
��� ��� ���4
����� y� :� 6��3����
��
 6�� ���
�� �� 
�	$�
 |y(−l)| > M � �#� |y(−l)| > M ���� ��!!��!��
40��
���� ��� ;-�(< �� y(−l) �
��$���


y(−l)y′(−l) = y(−l)σ(y(−l)) > 0.

#� y(−l) > 0 ���� y′(−l) > 0 4
� � y ����
 ����
� �$3���� �
� x ∈
π(−l, δ), δ > 0 ��
 �� y(−l) = |y(−l)| 6�� ����
 ���
��� ��� |y|� #� �9
�
y(−l) < 0 ���� y′(−l) < 0 4
� � y ����
 ����
� /������� �� ��� ��

�	� ���
−l ��
 � |y| 6�� ���
�� �� !�� 4��
 ���
��� ��� −l� D
� x0 = l � ���6�
3�
����
 ��
���
�� ��!!��!��
40���� ��� ;-�*< �� y(l) ��
 �	����

y(l)y′(l) = −y(l)σ(y(l)) > 0.

#� y(l) > 0 ���� y′(l) > 0 4
� � y ����
 ����
� �$3���� �
� x ∈ π(l, δ′), δ′ > 0
��
 �� y(l) = |y(l)| 6�� ����
 ���
��� ��� |y|� #� �9
� y(l) < 0 ���� y′(l) < 0
4
� � y ����
 ����
� /������� �� ��� ��

�	� ��� l ��
 � |y| 6�� ���
�� ��
!�� 4��
 ���
��� ��� l�

(�



��� �����	
	 �	� |y′|�
:�1
�$�� �� �
� !��� ;-��<�;-�*< ���� � ���4
���� f ����
 ��� ��
/�� ;*�.<�
#� ���������� ������ ��
 �
 f15 f2 ��
!������
 ��1� ���� �
����$���� ��
4�
�
�/�� &�
� ����

���� �������� ;-�(<5 ;-�*< � ���4
���� σ ����
 /
������
�
� |y| ≤ M ��
 N = sup[−M,M ]|σ|� ����1 h � !$�� ��� �
� !������ ;(��)<5
;(��,< ��
 ;(�(8< �
� �����
4����� ���� � ���� 6
�/�
4 �� �� 6$� �
����$�
���� �
� !����� ����
 ��
 �69 �
���
 �� ��
!�3���� ���4!!�!� �� q0� ����

6
�!������

q0 > N. ;-�-<

/���� ��� ����� y ∈ C2((−l, l)) ∩ C1([−l, l]) ���
 ��� 	���� ����! "0�$%/
"0�'% ��� �� f, f1, f2 �	��������� 
	�! 	���	���� �,� �	�	���� �����	������� 

"0�0% �
�� �	����� ������� C1 	�� �*������� �
�� �	
 �� ψ� l−1� M � N ������
����

|y′(x)| ≤ C1 ;-�.<

��� ���� x ∈ [−l, l]�

� !.(�+#� �#� x = −l � x = l ���
6� N = sup[−M,M ]|σ| � ;-�.< 
�	$�
� ����1
6$� ������ x1, x2 ∈ (−l, l) �� x1 > x2� :�1
�$�� �
� y(x1), y(x2) �
 ������

������
�$� �
� �3
�9��
� ;*�?<5 ;*�)<� +
�0���� �� �$��!� P = {(x1, x2) :
x1 > x2, x1−x2 < τ0} ��
 �� ���4
���� v(x1, x2) = y(x1)−y(x2)� :�1
�$��
���� ��!����� L,L1 ��� 6������
 ��� �
� �	���
� ;*�,<5 ;*��8< �������
	��
���
�$�� �� ���6��3����5 	
��
����
9���� ��� ;(�((<5 ��
 � ���4
���� h−v
6�� ���
�� �� !�� 4��
 �
���
�� �!4	
��� ��� P � &�� �$��
�

∂P = {x1 − x2 = 0} ∪ {x1 − x2 = τ0} ∪ Q1 ∪ Q2

���� Q1 = {x2 = −l, x1 ∈ (−l,−l + τ0)}5 Q2 = {x1 = l, x2 ∈ (l − τ0, l)}
�	����5 �
� x1 = x2 �
 v(x1, x2)5 h(x1 −x2) ���������� ��
 
��$���
 �� 85 �
�
x1−x2 = τ0 ���
����� y(x1)−y(x2)−h(τ0) = y(x1)−y(x2)−μ ≤ osc(y)−μ ≤
0� �#� �9
� (x1, x2) ∈ Q1 �� �	���� w(x1, x2) = y(x1) − y(x2) − h(x1 − x2)
4
�

wx2(x1,−l) = −y′(−l) + h′(x1 + l) = −σ(y(−l)) + h′(x1 + l) ≥ −N + q0 > 0

!��1 ��� ;-�-<� ��!�� 4� (x1, x2) ∈ Q2 
�	$�


wx1(l, x2) = y′(l) − h′(l − x2) = −σ(y(l)) − h′(l − x2) ≤ N − q0 < 0

!��1 3��4 ��� ;-�-<� +����

v(x1, x2) = y(x1) − y(x2) ≤ h(x1 − x2) ;-�7<

((



�
� �4�� (x1, x2) ∈ P̄ � �� ��� �6
� �
��� �!!4 	
��
����
9���� �9
� ���
;(��-< ���
�$�� �� ���6��3���� ;6���� ��
4�
�/� (< ��


ṽ(x1, x2) = y(x2) − y(x1) ≤ h(x1 − x2) ;-�?<

�
� �4�� (x1, x2) ∈ P̄ ��
 !��1 ��� ������
��� �1� ���� !��9� x15 x2 �	����
�
� |x1| < l 5 |x2| < l 5 0 < |x1 − x2| < τ0 ;� 0 < |x1 − x2| �
� τ0 > 2l<

|y(x1) − y(x2)|
|x1 − x2|

≤ h(|x1 − x2|) − h(0)

|x1 − x2|

6�!�6�
|y′(x)| ≤ h′(0) = q1.

�� !���� ���6��	�����
���0.(���� �� �
�/��9� �
 f15 f2 ��� ��6��� ��� ��
46�
��� ( ���
�$�

�� ��
!���$� ��� 6�$��
� ��!�� ��� �
� !��� Robin�

(*



�� ������	�	 ���	��� !	� "��	#�!����	 �

��� � �	 �����������	 �������
	 ε = 0�

�#� ��
� �	���
� ;(��<5 ;*��<5 ;-��< ������� ε = 0 ���� �
�/��9� �� �
��$"�

� �3��1��

y′′ = f(x, y, y′) ;.��<

�� ����

���� ��������
y(−l) = y(l) = 0, ;.�(<

y′(−l) = y′(l) = 0, ;.�*<

y′(−l) − σ(y(−l)) = y′(l) + σ(y(l)) = 0. ;.�-<

#��6��3��� apriori ���
����
� �
� ��� !$�� ���9� ��
 �
� ��� ��
4�1�� ���5

|y(x)| ≤ M, |y′(x)| ≤ c0 ∀x ∈ [−l, l]. ;.�.<

&���� *� ��+# )#� "1�#� )�-  ���"#�0)�- Dirichlet2 Neumann2
Robin�

'(3�#�� � �������� �� 	�
��
�� "-�$%� "-�#% ��� ���� 
 f �����	���� ��!
�	������! ��� �
������ "#�#%� "#�'%� �
�� �	����� ��� ����������� ���
 y ∈
C2((−l, l)) ∩ C0([−l, l])�

� !.(�+#� :�1
�$�� ��� ��!����

T : C1([−l, l]) −→ C2([−l, l])

v −→ y

���� y ����
 !$�� ��� �
� !������

y′′(x) = f(x, v(x), v′(x)) ;.�7<

y(−l) = y(l) = 0 ;.�?<

+ ��!����� ����
 ��!9� �

������� �
4����
 � ���4
���� f(x, y, p) ���
��
 /
������ �
� x ∈ [−l, l]5 |y| ≤ M 5 |p| ≤ c0 4
� !��1 ��� ;.��< �
y′′(x) = f(x, y(x), y′(x)) = f̃(x) ����
 /
������� +���� � y′ ����
 ����	���
�9
� ���
6� � f ��1
����� ����	�� �
��$���
 ��
 y′′ ∈ C0([−l, l])5 6�!�6�
y ∈ C2([−l, l])� ������ �� �
� !��� ;.�7<5 ;.�?< �	�
 ����6
�� !$���
����)��#�#� �
� �
� /��
�!��
�� ���"� �� ���� �� !����� ��
 y ∈
C2((−l, l)) ∩ C0([−l, l]) ��1� !��1 �1� �������1� �
� ��� f � ���!�����
��� y /�4��
 ��	

 �� �$��
� ; !��� =(><�

(-



:�1
�$�� ���� C1([−l, l]) ��� ��
�� ||g||C1 = sup |g| + sup |g′| ��
 ����
C2([−l, l]) ��� ��
�� ||g||C2 = sup |g|+sup |g′|+sup |g′′|� + (C1, || · ||C1) ����

	9
�� Banach� :� 6��3���� ��
 � T : C1 −→ C1 ����
 �������� ��!������
#
��� �� 6��3���� ��
 /
������ �$��!� ��� C2 �� ����
 �	��
�4 �������� ���
C1� ����1 yn ∈ C2 ���� ||yn||C2 ≤ c1� E�!�6� sup |yn|+ sup |y′

n|+ sup |y′′
n| ≤

c1 �
� �4�� n ∈ N � E�!�6� ∀n ∈ N, ∀x ∈ [−l, l] �	���� |yn(x)| ≤ c1�
�#
� yn ���
���
/� /
������� �9
� �
�/��9� ∀n, ∀x1, x2 ∈ [−l, l] 
�	$�

yn(x1) − yn(x2) = y′

n(ξ)(x1 − x2) ;��� �� :����<� E�!�6�

|yn(x1) − yn(x2)| = |y′
n(ξ)||x1 − x2| ≤ sup(|y′

n|)|x1 − x2| ≤ c0|x1 − x2|.
�#
� ∀ε > 0 ∃δ = δ(ε)(= ε

c0
) ����
� 9��� ∀x1, x2 ∈ [−l, l], ∀n �� |x1−x2| < δ

�	���� |yn(x1) − yn(x2)| ≤ c0|x1 − x2| ≤ c0δ = ε� �#
� yn 
������	����
#�� �� ��9
��� Arzela−Ascoli �	���� ��
 ��4
	�
 �����!����� ynk

����
�
9��� ynk

→ y ���
���
/�� ����1 �9
� y′
nk

∈ C1 ���� �
�/��9� ∀k ∈
N, ∀x ∈ [−l, l] �	���� |y′

nk
(x)| ≤ c0� �#
� � ynk

���
���
/� /
�������
������ 	
��
����
9���� �� ��9
��� ����� �
��� ���
����� ∀k, ∀x1, x2 ∈
[−l, l] |y′

nk
(x1)−y′

nk
(x2)| = |y′′

nk
(ζ)||x1−x2| ≤ sup |y′′

nk
||x1−x2| ≤ c1|x1−x2|�

#�� ���� ���
� �� �� �
����$���� �
��$���
 ��
 y′
nk

����
 
������	���� #��
�� ��9
��� Arzela − Ascoli �
��$���
 ��
 ��4
	�
 �����!����� y′

nkm
���

���!���
 ���
���
/�5 ���1 ��� w� �9
� ���
6� � ynk
����!���
 ���
���
/�

��� y ��4
	�
 x0 ∈ [−l, l] 9��� � ���!����� ynkm
(x0) ����!���
� ���� ���

��1��� ��9
��� ��� ���

���
��$ !��
���$ ; !��� =*7>< �	���� ��
 ��4
	�

���4
���� t : [−l, l] −→ R5 ��
��1���
�� �� t′ = w ��
 � ynkm

����!���

���
���
/� ��� t� �9
� ��� ��� ����6
������ ��� �
��� �� �	���� ��

t = y5 4
� w = y′� E�!�6� ��!
�4 �� �4
����

||ynkm
− y||C1 → 0.

�#
� /
������ �$��!� ��� C2 ���
����0���
 �� �	��
�4 �������� ��� C1�
� $��
3� ��� !$��� ��� �
� !������ ;.��<5 ;.�(< �	�
 ���	��� ���� �$
���

�����
�$ ������� ��� ��!���� �� �
4����
 �� � � �	�
 �����
� ������ y ����
�
���
 y = Ty ��
 ��� ��� �

��� ��� ��!���� � ;�	���
� (5.6), (5.7)<5 �� y
�� ����
 !$�� ��� �
� !������ ;.��<5;.�(<� �9
� �
� �4�� y ��1 y = Ty
��1
�0���� �
� apriori ���
����
� ;.�.<� �#
� ||y||C1 = sup |y| + sup |y′| ≤
M + c0 = c15 6�!�6� ||y||C1 ≤ c1� #� �4
���� �9
� ��

y′′ = κf(x, y, y′) = f1(x, y, y′) ;.�)<

y(−l) = y(l) = 0 ;.�,<

�
� κ ∈ [0, 1]5�� �	���� y = κTy ��
 �
 apriori ���
����
� �
� ��� !$�� �
��
�$����� ��

 9� ��1� ��
 �
� ��� !$�� ��� ;.��<5;.�(<� +���� 
������
�$���

�
 �������� ��� ��1
������ Leray−Schauder 4
� � � �	�
 �����
� ������5
6�!�6� �� �
� !��� ;.��<5 ;.�(< �	�
 !$��� �� ��9
��� ���6��	�����

(.



'(3�#�� � �������� �� 	�
��
�� "-�$%� "-�'% ��� ���� 
 f �����	����
��! �	������! ��� � �����! "'�#%� �
�� �	����� ��� ����������� ���
 y ∈
C2((−l, l)) ∩ C1([−l, l])�

'(3�#�� % �������� �� 	�
��
�� "-�$%� "-�0% ��� ���� 
 f �����	����
��! �	������! ��� � �����! "0�#%� �
�� �	����� ��� ����������� ���
 y ∈
C2((−l, l)) ∩ C1([−l, l])�

+
 ���6��3�
� �1� ��1
��4�1� (5 * 6�� 6
�/�
��� ��� ���� ��� ��1
������
��

&���� ��-�.�,!)#)� )#� "1�#� )�-  ���"#�0)�- Dirichlet2 Neumann2
Robin�

'(3�#�� � ����� y ����� ������ ���
 ��� "-�$%�"-�#%� 
	�� f(x, y, p) ���/
����� ��� |y| ≤ M � |p| < +∞ � x ∈ [−l, l] ��� �� ��� ��*���� �! 	��! y�
(
�� 
 ������ ���
 ����� ����1�� �

� !.(�+#� ����1 y15 y2 6$� �!��
��� !$��
� ��� ;.��<5;.�(< ����

y′′
1(x) = f(x, y1(x), y′

1(x)) ;.��8<

y1(−l) = y1(l) = 0 ;.���<

y′′
2(x) = f(x, y2(x), y′

2(x)) ;.��(<

y2(−l) = y2(l) = 0 ;.��*<

+
�0���� w(x) = y1(x)− y2(x)� ���� �/�

9���� �
� ;.��8<5;.��(< ���
�����

w′′(x) = f(x, y1(x), y′
1(x)) − f(x, y2(x), y′

2(x)) = f(x, y1(x), y′
1(x))−

f(x, y2(x), y′
1(x)) + f(x, y2(x), y′

1(x)) − f(x, y2(x), y′
2(x)).

E�!�6�
w′′(x) = G(x) + F (x) ;.��-<

���� G(x) = f(x, y1(x), y′
1(x))−f(x, y2(x), y′

1(x)) ��
 F (x) = f(x, y2(x), y′
1(x))

−f(x, y2(x), y′
2(x))� ����1 ��
 � w !�� 4��
 ���
�� ���
��� ��� N ∈ (−l, l)

���� �
�/��9� w′(N) = 0 4
� y′
1(N) = y′

2(N) 6�!�6� F (N) = 0� ������
w′′(N) ≤ 05 w(N) > 0 ��
 G(N) > 0 6
��
 f ����
� �$3����� +����

w′′(N) = G(N) > 0

4����� ����1 �9
� ��
 � w !�� 4��
 �
���
�� �!4	
��� ��� Ñ ∈ (−l, l)� ����
�	���� w′(Ñ) = 0 4
� y′

1(Ñ) = y′
2(Ñ) 6�!�6� F (Ñ) = 0� ������ w′′(Ñ) ≥ 05

(7



w(Ñ) < 0 ��
 G(Ñ) < 0 6
��
 f ����
� �$3����5 4���� !��1 ��� ;.��-<�
D
� x = ±l 
�	$��� �
 ;.���<5 ;.��*< 6�!�6� w(x) = 0 �
� x ∈ [−l, l] 4
�
w(x) = y1(x) − y2(x) = 0� ������1�

y1(x) = y2(x) ∀x ∈ [−l, l]. ;.��.<

:� �3��4����� �9
� �� ��
 ��� ��
�� �
��������
� �	���� ����6
������
��� �
� !��� Neumann� �

� 6
����9����� �� ��9
��� �� ���6��3����
��� !���� �
�����
9���� !��� ��� ���6�
3� ��� ��/���0���
 ��� =(>�

/���� &�� ����� y1� y2 �����! �
! "-�$% 
	�� 
 f �����	���� ��! �	������!
��� ���� ����! 0 ��� �	�	���� ����� Lipschitz �! 	��! p� ,� 
 ������
�

w = y1 − y2 �����	���� ��! ���� ��! w(−l) = 0� w′(l) = 0  w′(−l) = 0�
w(l) = 0� �
�� w ≡ 0

� !.(�+#� #
��� �� 6��3���� �� !���� �
� �
� �������� w(−l) = 05 w′(l) =
0� � 4!!� ��
���1�� ���
���1��0���
 ��
���
�� �#� w(l) = 0 ���� ��� ��
��9
��� - �	���� w ≡ 0� ����1 w(l) �= 05 	1
��  !4 � ��� ���
�������
���
�$�� �� ���������� w(l) > 0 ;�� �	
 ���
���
���$�� ��� w �� ��� −w<�
� w = y1−y2 6�� ���
�� �� !�� 4��
 ���
�� ���
�� ���
��� ��� (−l, l) �����
��
 �� ����
 �����
�� �
4����
 �� !4� ��� �� ��1��

�� ������ ���
�� ���
��
���
��� ���� ���
6� � f ����
 ����
� �$3���� ��
 � �	��� ;.��-< ��� 6���
 ��
4����� �#
� �� w(l) ����
 ���
�� ���
��� ��� w � � w ����
 �����
�� �#� � w
����
 �����
� ���� w ≡ w(−l) = 0 ��
 �	���� �� 0���$����� #
��� !�
��� ��
6��3���� ��
 � w ����
 �����
��

F��1 3��4 ��� �	���� ;.��-< ��
 ���
6� w(−l) = 0 < w(l) � w 6��
���
�� �� !�� 4��
 �
���
��� �
���� E�!�6� 
�	$�
 w ≥ 0 ��� [−l, l]� ���
6�
w(−l) < w(l) �� ��4
	�
 x0 ∈ (−l, l) ����
� 9��� w′(x0) > 0� �9
� ���
6�
w′(x0) > 0 ��
 w′(l) = 0 �� �
���
 ∀x ∈ [x0, l] �� 
�	$�
 w′ ≥ 0 ;6
�/�
��
�4
�� ���
	� ������ x̃0 ∈ (x0, l) ��� ����� � w �� !4� ��� ���
�� ���
���<� �#�
��1
������ ��� �	��� ;.��-<� ���
6� w ≥ 05 w′ ≥ 0 ��� [x0, l] ��
 � f ����

Lipschitz 1� �
�� p5 ����
� �$3���� 1� �
�� y5 �� ��4
	�
 �����
4 # ����
�
9��� �
� x ∈ [x0, l]

w′′(x) = G(x) + F (x) ≥ −Aw′

��
 ���
6� w′(l) = 05 x ∈ [x0, l]

w′(x) ≤ A
∫ l

x
w′(t)dt,

−(eAx
∫ l

x
w′(t)dt)′ ≤ 0.

(?



+!��!�
9����� 3��4 ��� x ∈ [x0, l] �1� l5

eAx
∫ l

x
w′(t)dt ≤ 0.

���
6� w′ ≥ 0 ��� [x0, l] �	���� w′ ≡ 0 ��� [x0, l]5 6�!�6� w(x0) = w(l) ��
���
�� ���
��� ��� w ��� [−l, l]5 4
� w = �����
45 ����� w ≡ w(−l) = 0�
�� !���� ���6��	�����

'(3�#�� & ����� 
 f �����	���� ��! �	������! ��� 2 �����! -�$� �
�� ��
	�
��
�� "-�$%� "-�'% ���� ����1�� ���
�

� !.(�+#� ����1 w = y1−y2 ���� y1, y2 ����
 !$��
� ��� �
� !������ ;.��<5
;.�*<� �#� w(−l) = 0 � w(l) = 0 ���� ��� �� F���� .�� �� �	���� w ≡ 0� �#�
���������� !�
��� ��
 w(−l), w(l) �= 0 ��
 	1
��  !4 � ��� ���
�������5 ���1
w(−l) > 0� �#� w(x0) = 0 �
� �4��
� x0 ∈ (−l, l) ���� w ≡ 0 �/�
��0�����
�� F���� .�� ��� [0, x0]� �+�1� �	���� �������
 ��
 w(−l) �= 0 4
� 6��
��4
	�
 ����
� x0 ����� w > 0 ��� [−l, l]�

����1 w(−l) > w(l)� ���� ��4
	�
 x1 ∈ (−l, l) ����
� 9��� w′(x1) < 0�
������ �� �
���
 �� �	���� w′ ≤ 0 ��� [−l, x1] 6
��
 6
�/�
��
�4 � w ��
!4� ��� ���
�� ���
��� ; � w 6�� !�� 4��
 ���
�� ���
��� ��� (−l, l) !��1
��� �	���� ;.��-< ��
 �1� �������1� �
� ��� f<� #�� ��� ;.��-< ���
6� � f
����
 Lipschitz 1� �
�� p5 ����
� �$3���� 1� �
�� y ��
 w′ ≤ 0

w′′(x) = F (x) + G(x) ≥ F (x) ≥ Aw′

����� �!��!�
9������ �� �	����

w′(x) ≥ A
∫ x

−l
w′(t)dt,

(e−Ax
∫ x

−l
w′(t)dt)′ ≥ 0.

+!��!�
9������ 3��4

e−Ax
∫ x

−l
w′(t)dt ≥ 0

�
� x ∈ [−l, x1]� ���
6� w′ ≤ 0 ��� [−l, x1] �	���� w′ ≡ 0 ��� [−l, x1] 6�!�6�
w(x1) = w(−l) ��
 w(−l) ����
 �� ���
�� ���
��� ��� w 6
��
 w(−l) > w(l)5
4���� �/�$ � w 6�� !�� 4��
 �� ��1��

�� ������ ���
�� ���
���� �#
� 6��
���
�� �� 
�	$�
 w(−l) > w(l)� �� ��� �6
� ��!!��
��� 6�� ���
�� �� 
�	$�

w(−l) < w(l)5 4
� w(−l) = w(l)� �9
� ���� w ≡ w(−l) ���� � w !�� 4��

���
�� ���
��� �����
4 �
�
���
� ��� �� w(−l) �� �4��
� x2 ∈ (−l, l)� �#�
��1� 
�	$�
 �� 6�$��
� ���� w(x2) < w(−l) ��
 w′(x2) = 0 = w′(−l) 4����

()



�$�/1�� �� �� �
����$���� ��
	�

����� ��� 6
4����� [−l, x2]� �#
� w ≡
w(−l) �����
4�

�#� �9
� ��1
������ ��� ;.��-< �
� w ≡ const ;4
� y′
1(x) = y′

2(x)< ��
�
��$"�


0 = G(x) > 0

4����5 4
� y1 ≡ y2�

'(3�#�� 4 ����� y ����� ������ ���
 ��� "-�$%�"-�0%� 
	�� f(x, y, p) �/
����	���� ��! �	������! ��� ���� ����! 0 ��� 
 σ(y) ����� �� ��� ��*����
������
�
� (
�� 
 ������ ���
 ����� ����1�� �

� !.(�+#� ����1 y15 y2 6$� �!��
��� !$��
� ��� ;.��<5;.�-< ����

y′′
1(x) = f(x, y1(x), y′

1(x)) ;.��7<

y′
1(−l) − σ(y1(−l)) = 0, y′

1(l) + σ(y1(l)) = 0 ;.��?<

y′′
2(x) = f(x, y2(x), y′

2(x)) ;.��)<

y′
2(−l) − σ(y2(−l)) = 0, y′

2(l) + σ(y2(l)) = 0 ;.��,<

+
�0���� w(x) = y1(x)− y2(x)� ���� �/�

9���� �
� ;.��7<5;.��)< ���
�����

w′′(x) = G(x) + F (x) ;.�(8<

���� G(x) = f(x, y1(x), y′
1(x))−f(x, y2(x), y′

1(x)) ��
 F (x) = f(x, y2(x), y′
1(x))

−f(x, y2(x), y′
2(x))� ����1 ��
 � w !�� 4��
 ���
�� ���
��� ��� N ∈ (−l, l)

���� �
�/��9� w′(N) = 0 4
� y′
1(N) = y′

2(N) 6�!�6� F (N) = 0� ������
w′′(N) ≤ 05 w(N) > 0 ��
 G(N) > 0 6
��
 f ����
� �$3����� +����

w′′(N) = G(N) > 0

4����� ����1 �9
� ��
 � w !�� 4��
 �
���
�� �!4	
��� ��� Ñ ∈ (−l, l)� ����
�	���� w′(Ñ) = 0 4
� y′

1(Ñ) = y′
2(Ñ) 6�!�6� F (Ñ) = 0� ������ w′′(Ñ) ≥ 05

w(Ñ) < 0 ��
 G(Ñ) < 0 6
��
 f ����
� �$3����5 4���� !��1 ��� ;.�(8<� D
�
x = ±l 
�	$��� �
 ;.��?<5 ;.��,<�

����1 ��
 � w !�� 4��
 ���
�� ���
��� ��� −l� ���� w(−l) > 0 4
�
y1(−l) > y2(−l) ��
 σ(y1(−l)) > σ(y2(−l)) 6
��
 � σ ����
 ����
� �$3�����
#�� �
� ;.��?<5 ;.��,< �
��$���
 y′

1(−l) > y′
2(−l) 6�!�6� w′(−l) > 0 4
� ��

�
���
 � w �� ����
 ����
� �$3���� ����4 ��� −l 4����� +���� 6�� ���
�� ��
!�� 4��
 ���
�� ���
��� ��� −l� ����1 ��
 � w !�� 4��
 �
���
�� �!4	
���
��� −l� ���� w(−l) < 0 4
� y1(−l) < y2(−l) ��
 σ(y1(−l)) < σ(y2(−l)) 6
��

� σ ����
 ����
� �$3����� #�� �
� ;.��?<5 ;.��,< �
��$���
 y′

1(−l) < y′
2(−l)

6�!�6� w′(−l) < 0 4
� �� �
���
 � w �� ����
 ����
� /������� ����4 ���

(,



−l 4����� +���� 6�� ���
�� �� !�� 4��
 �
���
�� �!4	
��� ��� −l� �+��
�
���6�
��$���� ��
 � w 6�� ���
�� �� !�� 4��
 ���
�� ���
��� � �
���
��
�!4	
��� ��� l� �#
� �� �
���
 !��1 �1� ���
����1� ��� ��1��

�4 ������ �
w �� �����
� ��� [−l.l]� �#� �9
� w = Const � �	��� ;.�(8< �� 69��


0 = G(x) > 0

4����5 4
� w(x) = y1(x) − y2(x) = 0� ������1�

y1(x) = y2(x) ∀x ∈ [−l, l]. ;.�(�<

��� � �����������	 �������
	

&��� ��!������ ��
4�
�/� �� ��!�������� ��� ����6
������ ��� ��/�!
0��
����� ��
���1��� ��
 �
� �� �
�� ����

��4 �
� !������

&���� ��-�.�,!)#)� )#� "1�#� )�5  ���"���)�� Dirichlet�

/���� &�� ����� y(x) ������ ���
 ��� 	���� ����! "$�$%� "$�#% ���
0 < ε < 1�
(i) ,� f(x, y, 0) < 0 ��� x ∈ (−l, l)� |y| ≤ M �
�� y(x) ≥ 0� ∀x ∈ [−l, l]�
(ii) ,� f(x, y, 0) > 0 ��� x ∈ (−l, l)� |y| ≤ M �
�� y(x) ≤ 0 ∀x ∈ [−l, l]�
(iii) ,� f(x, 0, 0) < 0 ��� x ∈ (−l, l) ��� f ��*���� �! 	��! y �
�� y(x) ≥ 0�
∀x ∈ [−l, l]�
(iv) ,� f(x, 0, 0) > 0 ��� x ∈ (−l, l) ��� f ��*���� �! 	��! y �
�� y(x) ≤ 0�
∀x ∈ [−l, l]�

� !.(�+#� (i) ����1 ��
 ��4
	�
 N ∈ (−l, l) ���� � y !�� 4��
 �
���
��
�!4	
���� +
�0���� ��� ��!���� Q

Q(y) ≡ |y(x)|εy′′(x) − f(x, y(x), y′(x))

�
�/��9� Q(y) = 0� #�� ��� 4!!� �	���� %

|y(N)|ε > 0, y′(N) = 0, y′′(N) ≥ 0, f(N, y(N), 0) < 0

6�!�6� Q(y(N)) = |y(N)|εy′′(N) − f(N, y(N), 0) > 0� &�� �$��
� �	����
y(−l) = y(l) = 0� �#
� ��!
�4 ���
�����

y(x) ≥ 0 ∀x ∈ [−l, l].

(ii) �+��
� ���1 ��
 ��4
	�
 Ñ ∈ (−l, l) ���� � y !�� 4��
 ���
�� ���
����
���� �	����

|y(Ñ)|ε > 0, y′′(Ñ) ≤ 0, f(Ñ , y(Ñ), 0) > 0 .
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E�!�6� Q(y(Ñ)) < 05 4����� &�� �$��
� �	���� y(−l) = y(l) = 0� �#
�
��!
�4 %

y(x) ≤ 0 ∀x ∈ [−l, l] .

(iii)−(iv) � ���6�
3� 6�� 6
�/�
�
5 �
��� �� 	
��
����
������ ��� ���������
��� f 1� �
�� y�
����)��#�#� #�� ��� �
����$���� ���6�
3� ��
 !��1 �1� ����
1� ��
���
���1� �
� �� 6�$��
� ��!�� ��� �3��1��� ����
 /���
� ��
 � !$�� 6�� ���
��
�� ��6���0���
 �� ��1��

�4 �������

�!����� &�� ����� y ���
 ��� 	���� ����! "$�$%�"$�#% ��
y ∈ C2((−l, l)) ∩ C0([−l, l]) ��� 0 ≤ ε < 1�
,� f �����	���� �� (i)  �� (iii) ��� 2 �����! -�# �
�� 
 "$�$% 	������ �
�
���3 yεy′′ = f(x, y, y′)�
,� f �����	���� �� (ii)  �� (iv) ��� 2 �����! -�# �
�� 
 "$�$% 	������ �
�
���3 (−y)εy′′ = f(x, y, y′)�

�!����� &�� ����� y ������ ���
 ��� 	���� ����! "$�$%� "$�#% ��� ���
�
� f ������ f(x, 0, 0) < 0  f(x, 0, 0) > 0 ∀x ∈ (−l, l) ��� ����� �� ���
��*���� �! 	��! y� (
�� 
 "$�$% 	������ �
 ���3 

y′′(x) =
f(x, y(x), y′(x))

|y(x)|ε = f̃(x, y(x), y′(x)) ;.�((<

��� x ∈ (−l, l)�

'(3�#�� 6 ����� y ������ ���
 ��� 	���� ����! "$�$%� "$�#%� 
	�� 

f(x, y, p) 1�� �	��������� ��� |y| < M � |p| < +∞� x ∈ (−l, l)� f(x, 0, 0) < 0
 f(x, 0, 0) > 0 ��� �� ������ ���! f � f̃ �
! "-�##% ����� �� ��� ��*����! �!
	��! y� (
�� 
 	���	��� ���
 ����� ����1�� �

� !.(�+#� �/�
��0���� �� :�9
��� - �
� �� �
� !��� ;.�((<5 ;��(<�

&���� ��-�.�,!)#)� )#� "1�#� )�-  ���"#�0)�- Neumann ,��
Robin�

/���� &�% ����� y ������ ���
 ��� 	���� ����! "$�$%� "$�'%  "$�$%� "$�0%�
�,� ��� �
 ������
�
 f ������ f(x, 0, p) < 0  f(x, 0, p) > 0 ��� x ∈ (−l, l)�
|p| < +∞ �
�� 
 ���
 1�� �	���� �� �
1�������� �� ��������� �
�����

� !.(�+#� #� ��6��
0���� �� ��	��� 4���� ��� ��� �3��1�� ;���<�
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 f �����	���� ��! �	������! ��� 2 �����! -�'� ��� 
 f̃
�
! "-�##% �����	���� ��! �	������! ��� ���� ����! -� (
�� �� 	�
��
�� "$�$%�
"$�'% ���� ����1�� ���
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 f̃ �
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